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I ’'x mwn: rights to moneys coming to nMan NONR (V1p D38 ,NWIA [+IYX — if DNIR])
a  default: belongs to father
i if the case happened before his death or before she became a nIna — belongs to him
if he dies (or she becomes a n7a11) before collection, belongs to brothers
ii  if the case came to court after his death or after she became a n711, belongs to her
1w . if the moneys weren't collected and father died (even after 73) — belongs to her
however: her wages and nx'xn belong to brothers even if father died before collection
note: only real “new” information is the dispute between 1327/w™ about status of uncollected money
as part of nw11 to the brothers
b analysis of j1ypw ’7's position:
i mwn: (1:0 nwaw) — if A accuses B of nna/onk of his daughter & B denies, A administers an oath to which
B assents — and B later recants and admits to it, w”1: no pay (vapa nTn) (1127 pays Do) NwI)
Question: (»ar > n21) what if A accuses B of having been found liable in court for »na 1R of his
daughter; B denies it then admits it — is it still v3p (according to w™) or is it now pnn n193?
Answer: (n27) in that case W™ agrees that it is 70 11793 and fits v. 1 - ny1aw 129p2 27N
Challenge: w™ excludes a case of vip 2vn N193 (where A accuses B of an act which carries vip,
administers an oath which B confirms — then B admits to it) from n»1aw 129p following v. 1
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Explication: doesn’t ™ intend to address a case where there was already 172 nTRYN?

Defense: case refers to an accusation which omits 111 nTavn

Challenge: ®v of that statement extends n»12v 127p to NYHRM AY2IR "MYVN %23 (0Ip) - implying

that there has already been 112 nTRYN

Feigned Answer: (could’ve answered that the entire statement is w" and the ®w» addresses a

case where there was already 1>12 nToyn and the Ro'0 addresses a case where it hadn’t yet

happened, but then the statement should’ve been explicitly attributed to w™)

Real Answer: entire case is after 72 nTRYN; XYM is 1327, R0 belongs to v

(i) @”r (in n27's estimation) agrees that even in such a case (where the accusation is that there
was 1’12 NTayn) that he is exempt from ny1aw 129p;

(if) However: vis-a-vis the financial obligation, in such a case it is no longer v1p and B must pay
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